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i =

(B4 5]« AARND )

A F64E9 H A H BLE
HT HK A0 (58) A (40) An GH
H #HT 474 387 384 771
AT 1,759 1, 658 1,793 3,451
JHET 963 890 820 1,710
== 1T 1,276 983 1,065 2,048
FFHT 1,987 1, 847 1,894 3,741
JTHT 1, 697 1,708 1,861 3, 569
i 865 936 980 1,916
A AET 623 512 564 1,076
At ZEHT 891 846 870 1,716
BT 688 610 640 1,250
HAET1 T H 892 855 847 1,702
HARET2 TH 792 774 757 1,531
PEFTIR 1 T H 2,197 1,814 1,948 3,762
VEETIR 2 T H 977 863 915 1,778
FRET 1T H 1,602 1,309 1,640 2,949
T2 TH 1,251 926 1,118 2,044
kAT 3 T H 1,451 1,410 1,543 2,953
T4 TH 2,879 2,608 2, 865 5,473
SRHET 945 893 947 1,840
FRAEHT 1,198 1, 142 1,233 2,375
EFIT1 TH 512 446 488 934
EJFET2 TH 776 823 780 1,603
KT 3 T H 730 714 697 1,411
EJFIT4 TH 295 230 225 455
EJFET5 TH 503 468 521 989
AL P IR BT 1,111 1,116 1,071 2,187
[ B AT 1,591 1,622 1,751 3,373
FiEs 1,218 1,231 1,290 2,521
E1TH 424 452 491 943
tE 2 TH 651 741 767 1,508
tE3TH 463 521 517 1,038
EE4 T H 407 507 492 999
FAZENT 1,432 1, 055 1,096 2, 151
=L 711 683 725 1,408
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S F64E9 A K HBIUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,015 798 994 1,792
Pay NI 1,001 1,126 1,116 2, 242
KETHH 169 93 157 250
[icg gzl 876 914 863 1,777
HOHTHHT 1,013 1,075 1,059 2,134
KFEHE 1,750 2,014 2,006 4, 020
KFFRIL 1,521 1,528 1,583 3,111
Al - /N 6,221 6, 323 6, 364 12, 687
KT TNLEm 4,972 5, 399 5, 382 10, 781
KR EE 4,831 4, 569 4,617 9, 186
WAL 952 795 830 1,625
[EREa 491 397 400 797
S 1,532 1,390 1,466 2,856
EoE1TH 578 563 527 1,090
BEo=2TH 720 646 649 1,295
KFEA K 4, 844 4,993 5,082 10, 075
KFEFIE 3,416 3, 608 3,613 7,221
KFA 11,118 11,427 12, 002 23, 429
K7 Eilin 1,997 2,021 2,023 4,044
/INFFRET1 TH 2, 625 2,291 2, 686 4,977
/INFFRET2 TH 1, 302 1,237 1, 190 2, 427
/INFFRET3 TH 2, 435 2, 162 2, 455 4,617
/INFFRET4 TH 1,623 1,495 1,523 3,018
KEd s 1,070 1,139 1,127 2,266
KFEFE 2, 364 2,522 2, 622 5, 144
KFAH A A 735 618 711 1,329
== = 865 985 985 1,970
KFEdsit 77 108 90 198
1 T H 918 968 1,007 1,975
2 TH 991 1,105 1,098 2,203
B3 T H 881 769 891 1, 660
B4 TH 678 686 778 1,464
w5 TH 795 786 859 1,645
KREWRZ T 317 306 316 622
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BFI64E9 H K H BiAfE
my 4 A AR (FB) i AAa & Al GH
KT 203 247 228 475
KPR 804 935 960 1,895
RF-H HH 140 174 173 347
KFBTH 153 187 164 351
KFHIH 17 19 20 39
KFFE A 465 539 491 1,030
Pl 1 TH 1,059 996 1,135 2,131
il E2TH 1,141 1,127 1,177 2,304
=M1 TH 921 974 1,041 2,015
M2 TH 348 315 392 707
3 TH 830 834 885 1,719
A TH 1,187 1,102 1,150 2,252
HRLAr 1 TR 1,649 1, 470 1, 606 3,076
WL F2 TH 1,422 1,532 1, 542 3,074
Bkl 3 TH 780 827 924 1,751
WL F4 T H 374 231 308 539
WL E5 T H 156 146 170 316
WL 6 TH 585 477 564 1,041
Pl 1 TH 1,069 1,088 1,066 2, 154
w2 TH 328 333 366 699
farE1TH 1, 508 1,429 1,397 2,826
My 2TH 699 725 744 1,469
M3 TH 865 827 822 1,649
#1TH 278 346 306 652
H2TH 273 322 326 648
#3TH 1,396 1, 390 1, 460 2,850
= &1TH 366 425 392 817
= E2TH 185 213 213 426
= &3TH 292 350 339 689
=E4TH 433 482 453 935
—&5TH 678 706 693 1,399
Heo 358 416 395 811
| 225 271 275 546
WA2TH 963 917 920 1,837
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D649 H K HHIAE
i) A AB (5B AR (&) AR Gb
WA3TH 2,036 1,334 1,467 2,801
WA4TH 99 73 109 182
WA7TH 332 343 364 707
WA TH 1,541 1,136 1, 361 2,497
FREAR1ITH 1,752 1,836 1,889 3,725
FRER2TH 946 994 978 1,972
1 TH 235 249 264 513
2 TH 519 609 650 1,259
It 3TH 1,041 1,111 1,172 2, 283
4 TH 60 77 70 147
e [ B 368 447 405 852
bR T 603 545 623 1,168
AT IR 592 699 723 1,422
WETIR1 T H 1,497 1,471 1,334 2,805
WATIR 2 T H 2, 388 2,619 2, 420 5,039
WRETIR 3 T H 1,536 1,619 1,438 3,057
WATIR 4 T H 452 518 476 994
WAETIR5 T H 846 780 759 1,539
WATRFIE 1 T H 1,332 1,441 1,286 2,727
WATRFIME 2 T H 1,349 1,381 1,292 2,673
WHTRAIE 3 T H 859 934 858 1,792
<TDEHE1ITH 443 302 368 670
<TDEH2TH 729 666 608 1,274
<TDEHE3ITH 872 715 799 1,514
HER 1T H 152 155 140 295
TER2TH 408 507 494 1,001
HEm 3 T H 543 604 585 1,189
TER4TH 593 636 636 1,272
MMRE1TH 677 741 766 1,507
MMRE2TH 711 753 824 1,577
INFFRFE1TH 548 591 652 1,243
INFEFRFE 2 TH 545 570 602 1,172
INFIRFE 3 TH 891 1, 000 973 1,973
INFEIRFE A4 TH 809 984 949 1,933
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BFI64E9 H K H BiAfE
i) W A (59) AR (&) AR GH
INFHER 5 T H 561 763 683 1, 446
/INFFERG 6 T H 605 587 625 1,212
/INFFEET 5 T H 585 596 588 1,184
WNFRRTET 1 T H 785 782 766 1,548
/WNFfRTET 2 T H 562 610 595 1,205
/NFFRTHT 3 T H 852 1, 066 1,063 2,129
JEEFHHET 1 T H 91 102 115 217
LB 2 T H 25 35 21 56
¥ 1 TH 295 323 318 641
¥ 2 TH 157 184 182 366
¥ 3 TH 192 141 199 340
B 1 TH 101 124 120 244
kB2 TH 141 174 172 346
B3 TH 145 171 180 351
EFH1TH 845 825 803 1,628
E#FH2TH 1,268 1,385 1, 350 2,735
EHFIE3ITH 1,437 1,578 1,598 3,176
EHFI4TH 1,354 1,450 1,591 3,041
EHFIESTH 1,731 1,939 1,961 3,900
INEEE 875 950 948 1,898



















